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[image: image2.png]B1. Use the correct form of the following words (A-H) to complete the sentences 10-14, as in the
example. There are TWO words you do not need. (5 x 2 points = 10 points)

Example: When he came to our town on a promotional tour for his book, | got a signed copy.

. & llock my office door when | am working to lessen the number of

i Pete, we trusted you, but you've gone too far! Your behaviour is

. I wait for the sales to buy good-quality clothes at prices.

| have been informed that the Prime Minister will come into your room, so you
" - do have to make some speeches.

Much to her , her parents chose yellow roses instead of their usual red ones.
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Fill in the TWO gaps in the formal statements of Column B, so that they have a similar
meaning with the informal statements of Column A, as in the example.

Example: | think you're silly not to wear a helmet.

Besides an injury, you might get a fine.

(5 x 2 points = 10 points)

Wearing a helmet both protects riders and
is required by law.

A. SPOKEN FORM

B. WRITTEN FORM

15. | I don’t know why the invitation got to me after Inexplicably, it seems | was the
everyone else had got theirs _ learn about the wedding.
16. | They tell us to let the secretary know by 8 when | Students are not allowed to leave the
we are going out late. building at night _ inform the
secretary by 8 pm.
17. | He didn't train enough; he was a bit unlucky, His failure to break the record was
too. That's why he didn’t break the record. _ poor training and bad luck.
18. | The TV says it's going to snow tomorrow. | _ the forecast for tomorrow’s
Perhaps we shouldn't drive to work. weather is bad, drivers are advised to
consider other means to get to work.
19. | What John did to his friend was so bad they | The outcome of John's actions is that

probably won't speak to each other for a
lifetime.

are they likely to speak to
each other.
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Match items 20-24 (Column 1) with options A-G (Column 2) to make complete

statements. In Column 2 there are TWO options you do not need.

COLUMN 1

It is far better to postpone an answer than to do
what parents do,

: 20.

. ‘ Girls have as much sense of humour as boys,

It would seem the self-regulated child is capable

123, ‘ | concluded he was using his temper

. ‘ When a mother teaches a child to be good,

(5 x 2 points = 10 points)

COLUMN 2

: for the purpose of getting attention.

is/her natural instincts are suppressed.

because cheating is the easy option to
; use.

D. provide the child with too much
 information.

ut they seldom use it for protection.

f overcoming the influences of bad
raining.

o help the teacher maintain his
uthority.





